RASFE FEUTHEBANER

wWIIADITEFE

&
I 2
il 1 h <Y XALD B
6% EFKIT
6:00% K HF—1» 1 8:00%KE
& BFTE
5 E SRt S
pa K=l
B 11:25~14:15 éxa
e 5% v
= LD HE
| ~2KEE S EME
5F KRR (5HEF)
LR ELRR
6 7 8 q 10
? ﬂ\\tj”)*ﬁﬁ EE%ﬁFE? ~178 3‘( -7/{.1—,\.,[/‘/:/“ Hﬁﬁﬁﬁﬂ%%@f:&)
% |sarascan AN ~G(RET A | SR
¥ B . XH/SMpRkh o e 3 A bweek
. ~17THET A XEEPEIL .
% (6£5°5) ~198£T
FERERZC |os mEzRac 4% BEERZIC
% Enalierben LBHHMHE LrEmHMsE
F S sy |BF BRI 3% EEEALIC  (FUSVEE
¥ a1 (o) B R £B#AHMYE (o)
= i 5-64 ZEAEH 36 20085
6% BRSE (642%) 42134
% BIE (SKE)
13 14 15 16 17
BEMESDD
% SEFfIRE BEFERDED BHS4EA
% W ORE SEFRAIRE (2~3#%EF)
- |RAAEERR gL (ER) FAERTRED M XPTA
Jﬁ ~178%7T (FEE) BHhH BREREZES
CEEA-F tebelii
~198%T PTA
&RY
615> FL-Lbt |1F BEERSC  |2F @EsRac ST EERRSC e gasga 2LS
3 ~17827 | szmamse LBFEHMAE SomAHNE LBFEAMAH
& EnglishDay 3 RITH
7 4-2 (4H55%) | (288)
+ A1 (54 4~6%F FvMERO
SEhHBL
(3K8%)
20 21 22 23 24
= A
b KoL 171245 RAEERS o
2 [EVIORE FEHEDE g% R# DA 346 I .
A<y ‘ LIRS
£ 2-5F 4f%8E N
= Bi#ER
s &
g |6=25>FIL—LiE 3F AR
¥ ~24B%T (3HE%) g
E
27 28 29 30
e HOEICLD
2 |¢tv-orE FEAM
# |QUF 2 MER <Y REAR IR Y DREN G\ ER
Eif ~12/1%7T RIBEERE FBKBREE
E |4—15>FIL—L40E P CEE S
~12/8%7T ¥R~ 3K
EnglishDay
3 | & (3428%)
P 24F (4HRE%)
id 3% (51K
Z 4~65F 757 5EE)

(61%8F)

B HET
B R&R

#7

AT
a—F

T

2V
e




